Ksp Practice
CHM 1046
1.  For the following equilibrium:

CaC2O4(s)  (  Ca2+(aq)  +  C2O42-(aq)

A.  If the concentration of calcium ions is 0.036M and oxalate is 2.4 x10-7 M, will a precipitate occur?  Why, why not?  Ksp = 2.3 x10-9 for calcium oxalate 

Yes   IP> Ksp

IP = 8.64x10-9
B. If the concentration of calcium ions is 6.98 x 10-8 M and oxalate is 1.3 x10-4 M, will a precipitate occur?  Why, why not?  Ksp = 2.3 x10-9 for calcium oxalate

No   IP< Ksp


IP = 9.07x10-12
C. If the concentration of calcium ions is 4.80 x10-5 M and oxalate is 4.792 x10-5 M, will a precipitate occur?  Why, why not?  Ksp = 2.3 x10-9 for calcium oxalate

No   IP= Ksp


IP = 2.3 x10-9
2.  How many grams of calcium sulfate will it take to make 1L of a saturated CaSO4(aq) solution?  Ksp = 2.4 x10-5 for CaSO4
0.667 g
3. The Ksp for NaCl is 36, How many grams of NaCl would you need to make 2.5 L of a saturated NaCl(aq) solution?
877 g
4. Calculate the solubility (in g/L) of cadmium sulfide in water from the solubility product constant 8 x10-27 
1.30x10-11g/L
5. Calculate the solubility (in g/L) of magnesium carbonate in water from the solubility product constant 1 x10-5 
0.266 g/L
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